Today is Friday, October 16th

Math: Problem Solving

1-Read the problems and choose the correct option.

a)- A tailor bought 68 buttons.

He used 43 of them.

How many buttons does he have now?
He RIS comsrasmaons buttons.

25 26 27

b)-Cathy saved $276.
She saved $54 more than Lily.

How much money did Lily save?

Lilysaved $ .................

$220 $222 $225

¢)- Mark went shopping with $500.
He bought a watch and had $200 left.

How much did he pay for the watch?
He paid for the watch §....................

$250 $350 $300




